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Melissa plans to start selling cosmetics online. She has estimated the following
monthly costs if she sells 500 items:

* A variable cost of £10 for each item she sells
* Total fixed costs of £4000

(a) Complete the table using this information. (2)

Type your answers in the table. The total costs will be calculated automatically.

500 items sold

Variable costs £ |

Fixed costs £

Total costs =

(b) What would the fixed cost be if Melissa sold 1000 items? (1)

Type your answer in the box.

I

<> Back




image6.png
iPad & 19:30 15% L

|—_T-| edexcel.com © ED oy o+

Women's bags, Art.278... A-level Business Studie... Sixth Form Term Dates The College of Richard... Business | BTEC Firsts... ® Slide 1

=2 8 ¢ 00010 Q0

.elp Review Flag | Previous| Next Exhibit slafion  Quit Status

O A small business manufactures and sells keyrings. _

Each keyring retails for £2.50

The business sold 50 000 keyrings last year. Q .
- / N
~

Calculate the total revenue for the business. (2)

Type your answer in the box. ~
] h

You may use the working box to show your calculations.
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The owner of a business is completing a cash flow forecast and wants to identify _
the cash inflows for the business.

Which two of these are cash inflows? (2

Click on the two correct cash inflows.

Telephone bill

Monthly rent

Sales income

_—y ay awy awy

Staff wages

Share capital
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Here is a break-even chart for a business.
Total revenue

500000
400000
Total costs
Costs
and 300000
revenue
&) 200000 Fixed costs
100000
0 200 400 600 800 1000 1200
Units
(a) Identify the area of profit on the chart. (1)

Click on the chart to highlight the area of profit.

(b) What is the total revenue if the business sells 800 units? (1)

Type your answer in the box.

< o
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: Give the formula used to calculate profit. (1) _

Drag the correct tiles to the boxes.

Revenue ' Number of sales ' Inflows I

Fixed costs ' Variable costs ' Expenditure l
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O Rowan is the owner of a small cafe.

She has produced the following cash flow forecast for her cafe, for three months.

2012 | Septembor &) | October (5

Total Receipts 8500 9250 9000
Total Payments 7210 8450 8855
Net Cash flow 1290 800 145
Opening Balance 450 1740 2540
Closing Balance 1740 2540 2685

Rowan realises that she has forgotten to include a payment of £3500 for new equipment for the cafe.

This payment will be made in October.

Using this information, update the cash flow forecast for the cafe. (3)

Type your answers in the table.

2012 | September (£)

Total Receipts 8500
Total Payments 7210 :
Net Cash flow 1290
Opening Balance 450 1740 :
Closing Balance 1740

BACK -

Question Number 10 |





image11.png
iPad & 19:31

|'_T'| edexcel.com
Women's bags, Art.278... A-level Business Studie... Sixth Form Term Dates The College of Richard...
Time Help Review Flag | Previous| Next Exhibit |Transiation  Quit Status

[

Business | BTEC Firsts...

DO+

® Slide 1

Which one of these is a cost of sales for the manufacturing business? (1)

Click on the correct image.

Building a new factory to Employing people to
manufacture products sell the products

Buying raw materials

« BAGHD 2011 Shutterstock.

Buying delivery vehicles

A trainee manager is learning about the cost of sales for a manufacturing business.
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O A business produces the following cash flow forecast for three months. _
aotsTsanuary () | February 9 | March(6)

Total Receipts 12 000 12 500 11 500
Total Payments 9850 19 400 10 600
Net Inflow/Outflow 2150 (6900) 900
Opening Balance 1250 3400 (3500)
Closing Balance 3400 (3500) (2600)

(a) Using the information in the cash flow forecast, recommend one action
the business can take to manage its finances for these three months. (1)

Type your answer in the box.

(b) Explain how the action will benefit the business. (2)

Type your answer in the box.

« NEXT »

Question Number 11
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O A business manufactures televisions. The table shows their predicted figures for the next year. _
£ The formula to calculate breakeven is:
Selling price per television 1000 .
9p p Break fixed costs
. e reakeven = - - o - :
Variable cost per television 800 selling price per unit — variable costs per unit
Fixed costs 12000
How many televisions would the business need to sell to break even? (1)

Type your answer in the box.

televisions

You may use the working box to show your calculations.
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O Parul is planning to set up a new business making handmade jewellery and needs to _
plan for a successful first year.
Discuss the use of planning tools such as breakeven analysis in managing the

success of her first year in business. (8)
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O Ella and Mark have rented a small factory for their printing business. _

They will be offering printing services to other businesses, including providing leaflets and posters.

Give two examples of variable costs the printing business may have. (2)

Type your answers in the boxes.

Example 1:

I —

Example 2:

I
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‘ Which one of these is revenue for a bicycle shop? (1) ‘

Click on one of the boxes.

BIKES & PARTS

Advertising bicycles

Taking out a business loan

Bicycle sales

Q000

Staff wages
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O Roger is opening a new cafe. Here are some of his costs. _
8 Which of these are start-up costs and which are running costs? (2)

Click to show whether each statement is a start-up cost or a running cost.

Start-up costs Running costs

Buying tables and chairs

Paying staff wages

Adbvertising the opening of the cafe

Heating the cafe

U000
U000
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O A Managing Director is analysing data for her business. She uses this break-even chart. -

(a) Define the term breakeven. (1)

Type your answer in the box.

(b) Identify the break-even point on the chart. (1)

Drag the X onto the chart to show the break-even point.

E] 500 000 Total revenue

400000
Costs Total costs
and 300000
revenue
(£)

200000 Fixed costs

100000

0 200 400 600 800 1000 1200
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